
Profess ional  Suppl ies

 537105-08-09-10 ol 2015.03

537.105 / 537.108 / 537.109 / 537.110
SOEPKETEL BISTRO - SPARE PART LIST

1

NO CODE DESCRIPTION Q’TY

1 Z-TS6000-A02  LID COMPLETE(#1,2,3,32,33,34) 1

31
Z-TS6000-03 RING LID(BLACK) 1

Z-TS6000-03A  RING LID(S/S) 1

30 Z-TS6000-05 STAINLESS STEEL SCREW
M3.9-13 STAINLESS STEEL SCREW 1

4 Z-TS6000-06  STAINLESS STEEL KETTLE 1

5 Z-TS6000-07  ALUMINUM KETTLE 1

26~27 Z-TS6000-08Z  UPPER/LOWER EXTERIOR(BLACK) 1

26~27 Z-TS6000-08ZA  UPPER/LOWER EXTERIOR(S/S) 1

6 Z-TS6000-09 HEATING TORQUE 1

25 Z-TS6000-10 SIGN LIGHT 1

24 Z-TS6000-12 RED PLASTIC SIGN 1

23 Z-TS6000-13 KNOB 1

9 Z-TS6000-14 NON-POLE ON-OFF 1

16 Z-TS6000-17 SCREW CAP / M10 GALVANIZED NUT 3

15 Z-TS6000-19 RUBBER BALL (THREE) 3

8 Z-TS6000-21 CHIEF PLUG 1

13 Z-TS6000-23 Bottom plate 1

29 Z-TS6000-36 THERMAL ON-OFF 1

7 Z-TS6000-42 1

10 Z-TS6000-43 M4x6 STAINLESS STEEL SCREW 1

11 Z-TS6000-44 M4 STAINLESS STEEL NUT 1

12 Z-TS6000-45 M5 STAINLESS STEEL NUT 1

14 Z-TS6000-46 M4x8 STAINLESS STEEL SCREW 1

17 Z-TS6000-47 BRACKET 1

18 Z-TS6000-48 M4x8 STAINLESS STEEL SCREW 1

19 Z-TS6000-49 M4.2x9.5 STAINLESS STEEL SCREW 1

20 Z-TS6000-50 M4x6 STAINLESS STEEL SCREW 1

21 Z-TS6000-51 M4 STAINLESS STEEL NUT 1

22 Z-TS6000-52 STAINLESS STEEL GASKET 1

28 Z-TS6000-53 1

30 Z-TS6000-54 M3.9-13 STAINLESS STEEL SCREW 1


